
UPPSC � ·:aqfa�,H� � (SDI) �.:«cf:fla_rr 2006 

Part-II 
� M : 04-07-2009) 

----------------------------..w1

20 

(a) ffl 

(a)�
(c)�

(bj Wfcfi 

(b) �
(d) ffl

1 



Ans. (a) : ~ 1T7t ~ ~ •~ ~ • ttiiQticfil< ~ 1 

~ ~ ~. ~ . -snfli:r -:;1\qf(icfil{ ifi ~ t1 \il'ffl l 

~ lTIIU ~ fflT ~ ~ ~ ! ' ~ ~lci<kicfi l{ 

~ ! 1 ~. ~. ~ . ~ ~ ~ W6m 
~jllij (icfii{ ~ ~ ! I 
10. ~ ft;ra Rl&-i&Gl -q ~ ~ -m ~ ~ 
~~~t­
(a)~~ ~ tWlR! 
(b) ~ ~~tWlR! 
(c) ~~~~t 
(d) ~~t~~ 

Ans. (c) : ~ cfifcxi UTT ~ ~~ •~• ! 1 roPf ~ 
m cfil ~if ~~ ! 11fffl 1jf.J t ~ m1 ct,'l ~ 
'3lra' t ~ 'm m' <n1~~1T<TT!1 
14. '~lft~~I 

~~~~"fflf~lllf11' 
~a««roJT * ~ -mwt? 
(a) 1'7ITT m (b) ~ m 
(c) ·m m (d) ~ m 

Ans. (b) : '~mt~ ~I 

~~~~m-{~~11' 

Ans. (c) : ~ ~ ~ •~ ~ ~ ~ t ~ 

I 
~ ~ ~ t , -~ ~ "5l"cfiR t--
• ~~~tWlRt-~ 

~ ~ if ·~ m' t 1 ~ m--rnz ~ t 
~-~, ~ -cfiffit!T t qUR it ~ ~ ~ cfit. 
qftqq,q l~I cfil ~ -m ~ ~ I 

' 

• ~~lJ@tWlR!- m-
• ~ 11@ ! ~ ~- ~ 
11. m w cfiT ~ ~ t-

<a) ~ (b) a.ll{T 

(c) c::<TT (d) ~ 

Ans. (a&d) : •~~ '~ ' ~ ~ m m t ~ 
'qJq ! 1 3A ~ ~ 'qlq ~ ! 1 u:rr ctt ~ -;ft!, 

~ ~!­
~~~ 

i. 1'7ITT m 
2. ~m 

3. ~ m 

4.~ m 

5. cfu:m 
6. ~m 

~ 

~ 

(a) m (b) 'q'lfRcfi 

(c) ~ (d) ~ 
Ans. (d): '3ffiW ffl 'JTTq ·~ m' ctt f.Mftr ~ ti 
~ ~ ~ 'qlq ~ ~ t m it '9-ftqqq 

~ m ~ if '9ftum mffi ! oaf ~-m ~ t I cfu: m 
t "'qR ~ mif ~- (1) ~ (2) ~ (3) ~ (4) 

~I 

16. '~ lt ~ Gfl'if ~, ~ ~ ~ I 

ci;ftra~~~.~~-;r~11 ' 

~~-q~-mwt? 
(a) ~ m (b) ~m 
(c) ~ m (d) ~ m · 

Ans. (c): 
'~if~~c,fu, ~~ffll 
w-~~~. (1fqcf,~-;,~11 ' 

~~if (~ m' t i~ if qfufu ~ t ~ 
~~ if ~~~cfil~~ ~ 
~ ~ ~ ~ t am 3'B'cfiT m w wrnr i 

7.·=rn ~ .,;,. , _....,.::. 
'1"1 l 'l'fl '" {f2IT ~ ~ 121 ~ i {f2IT ~ ~'l'1 ~ it~ 'ilT ~ 

8. ~ m ~/'F['1Tf ~ i:mTT I 

L.9._~ _ _ m _ __:..._~ - -::-~ - c'h_P,--4 ~ ------~ 17. , f.lffi iH lR ~ ~ ~ ~ 1R" ~I 
12. ~W~~~'~'\- ~~~3TT~~~~~ll' 

(a) 1lftn (b) TITT ~~-qm-w~~~t? 
(c) -a)-;:ff qi]' (d) -ey;rr qi]'~ (a) ~ (b) ~ 

Ans. (c) : spITT, ~ ~ ~ -~ ~ ~ qi]' ~ "qTq (c) ~ (d) 'q'lfRcfi 

~ mfil ~ I ~ f.l ki ffiftsa "51cm it ~ cflm ~- Ans. (c) : 
'f.lfB-,H~1 ~~~~~~I 

l • ~~-@!'- 1'm ~~t~~~~~ll' 
1 

• tffi fcrip.r mt - ~ ~~if 'cfu: m' ctt f.Mftf ~ t i~ m qif ~ 
• mfH ~ -@I' - ct lct4("li 'qlq '~ ~I 3A m q ~ 'qlq ~ "5l"cfiR ~I . 

~ ! ~~ (c)~ qif~°3m! I W ~~ 
13. ~~-W~"¥f~i- -;r = 

(a) nnw (b) cm 
(c) .:fl- (d) 3lTo 
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,_ 
18. ~mftiG<ft~t,~~3lm{I . 22· ,~•~-q~~-

3lnff ~ ~ l(t, oT ~ ~II (a) ~ (b) q,lf~ 

~ ~ j ~ W ·cn·riiftqT~ 13lT t? ( c) ~ (d) ~ 
(a) ~ (b) ~ Ans. (d): '~' ~ ~ '~' WITTT mTTTI m WITTf ~ 
(c) ~ (d) m ~ "tfa: tj@Mli:ft f<rotraT ~ ~ "tfa: W m, ~ ~ 1 

Ans. (d): ~ ~ # '~ m' "q)T -qfttrrc6 ~3TI i , ~ WITTT ~ ~I ~- ~. ~ ~ !- -qfq qZ ~ 
ffl'qlq ,~ t, ~~m~~"q)T'qHm "q)T~I 

~ ~ lH # m ~~an~ ov.rr ~ t -smt 23• ,~-a;~ "Qffi-~ ctft m ~~ f~! 
~={t~ aGf mm~ t, ~ ~ q m ~ ~ t ~ '"Qm-F' ~ t m 
w ~~ ~- I 

~ mt (a) ~ (b) ~ 
~ ffi ~~ ~~~~~~~~,=q 

~ ~ Ans. (b) : ~ qTcF<r # ~ ''El'm-~' ~ -q '~ 
19. ~ W <fiT ~l~hmr t - m m,rr I fm{ Bl'llRicfi "tfa: # ~ ~ ~ ~ t ~ 

(a) sfil'l-.l (b) ~ ~ m ~ ~I 

~-(c_)_m~ _____ (d~) -~~-~---. 24. f.li:4~ftrn ~ * ~ ~-m ~ ii4~Jlft ~ 
Ans. (a) : m:: m "q)T -m- 1TTq '~ ' t 1 ~ ~ ~ 
3TIW !{T-'l@T ~ t , ~ cfi«rr t "ITT ~ ~ ~ 
~ mID t "3it m:: m ~ ~ 1 ~ m "q)T -m- 1{Tq ~ 
~i-
w 
~ 
~ 

q:;r a~,~~01 t? 
(a) ~<.1q1fo1 (b) ~ 

(c) ~ (d) ~ 

~ 
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27. ~ ~ i«ff ~ ~ ~ ~hiQ1cu:Jl ~ ~ 33. ¢-« ~ ~ 't'R' cfiT q~f£1t4j,;ft ~ t, ~ 
-mr.~~w~-grm~~f- ~~ 

(a)~ Wim (b) R Wim (a) am (b) ~if 

(c) ~Wim (d) ,31i5lp.ftiflq Wiffi (c) ~ (d) 7ft 
Ans. (a) : m ~ ~ ~ ~ ~ B&MI~ ~ 31'h ,~, f ft' , ~ i ~ Ans. (a) : ~ cfiT 9<:PMli.t rn C'tfi rn 
3m1 ~ cfiT ~ mr t m ~ ,~, Wiffi ~ t 1 'qm' cfiT m ! 1 rn cfiT ~ ffl- ~, 1m'R, 1IT'ITOT 

~Wim# ~ ~ ~ ~ t, ~ ~ Wirn ~ ti ~I~ -pf'f, ~ . 7ft, aTT1 ~ ffl !J I 

~Wim#lITTif~~. ~~~mrt. ~ ~qR,tf{ga "ij * ~ ~ '~' ~ Qllfllcllift 34. 
'~"f{llffi~~I -;rtrt~~~-

~,m;IT~ R1~1:101 -gr afir ~ ~ (b) ~ -qr 28. (a)~ 
~m~~-m~~? . (c) ~ (d) ~ 
(a)~ (b) qjlf~ Ans. (d) : 'tffzj' cfiT q4f4q1ifl {ll'Uft 1@ ~. ~ ' '{?lUft' 
(c) R (d) ~ ~ cfiT m . t ~ 3Pi m- ~ . ~, fcnmtt, 

Ans. (b) : ~ lITTiT ~ ~ m 31'h ~ ~ ITTillft, ~ . 4lq-1qffl ~1 ~ wrirr, msrr, ~ 
~ & m ~ ,~ "f{llffi' ~ t I cnlf~ tlll'ffi cfiT '~' cfiTffl~I 
~ ~ mr ti ~ ~ ~3tfffl$llv:f ~i:=i~~o rci ifi("Q1• -q 

1 
* "1% ~ I -;rcft I ~ 35. 

f.lkil1fll< ~ mT t- Qll fll a l:Jl ~t ~~~-
( 1) fcffflur-~ (2) ~ -'3"Cll!H I 

(a) ~ (b) ffiZ';ft 
•~• ~ ~ q4fllc11Jl ~ -29. 

(c) nftuft (d) tTftrr 
(a) ~ (b) 3WT Ans. (c) : '-;rctt' cfiT 94fllql,fj oftuft' 1@ t ~ 'croift' 
(c) m (d)~ ;ffcfiT cfiT m t , ~ ~ m- itzft, ffl, mt, ~, 

Ans. (d) : 1
cfil11,' cfiT q4flJ q1,fl '~ ' m7lT I ~ ~ m , ~ . ';f]q ~, ~ -;rctt cfiT m- ~, ~. 

m- ~. ~ . ~. ~ . ~ . ~ . m , mtrr, ~ . -mit~t, 
~. ~ . ~ ~ I ~ ~ 3WT 'cfillRq' t ~ ~ ~ rci iii <"41. -q -« "1% ~ 'w' ~ 36. 
q~f4q1~ ~ t i 'm> cfiT 3ITTT4" ,~ , mm t, 

Qllfll qi :J1 ~ t, ~ ~ ~-
1mtu' al ~F ~ ~ q<.1f<.1q1:J) ~ -q l% 30. (a) <qq;r (b) 'TH 
lTT-ra~ t.~~~-

(c) ~ (d) ~ 
(a) 'Utf (b) ~ 

Ans. (b) : ''TR' q4f4q1~ -;i- ~ 'ffiITT cfiT 'ER cfiT 
(c) ~ (d) ffi 

9llfll ql 'tfl t I ~ ~ q4f4q1'tfl ~ ~- 'fficfi, Wf<f, 
Ans. (c) : '~' t ~ ~ 1fq: 9llfllql ,fj ~ -q '~ ' ~~. ~~I~ 3Pi ~ ~ 1'.fcH, ~, 
1Tffif ~ t, ~ cfiT m -~ , ~ , ~ min , ~ . 'ER t 9llfllql-ql ~ t I 'ER t ~ q4flJql'tfl ~-
~ cfiT ffl- 'Utf, ~, ffi t I ~ . 'c.lflf, f.lqra ~ ~I 

f.ti:=if<-tf&o q<.1f4c11:Jl ~ -q -« -ii' "1% ~ - ~-« m-m ~'"QT~'~ Qllf4ciiJl ~? 31. 37. 
'-im-' ~ q4 f4q j:Jl ~ t, ~ ~ ~ -

(a)~ (b) ~ 
(a)~ (b) ~ 

(c) ~ (d) ~ 
(c) fmsft (d) ~ 

Ans. (d): '1W-f' cfiT q4f4q1-q~i '~ ~ I 
Ans. (b) : 'llR' cfiT q4f4q1'ifl '~ ' ~ ~ ~ '~' ~ ~ q4f4 q1 -q'1 ~ ~ ~-
~ cfiT mt, ~ 3Pi m- m, 'q'R'{, ~ , 

'ITT~ - ~ . ~ , ~. flo'.lfl l -ift anfa:1 w, mt ama:1 lJR cfiT m- ~, ~ , ~, ~, 
~- ~ , ~lit11{1/I , ~~'~I ~, ;fl~qillo, ~, ffl, ~ ~I 
~- m , ~ . ~. 4~naJ1~.J, ~. lffcicf ~-« m-m ~ '~' ~ q4f4c1,Jl t? 32. 

3Tifa: I 
(a) um (b)~ 

qftifto~-~, ~ , ~ , ~~!1 
(c) ffl (d) ~ 

'lfr-r'~~~t-Ans. (c) : '~ q4f4q1'ifl ,~, t ~ 3Pi 
38. 

cfiT 

q4f4q1'tfl ~ , ~, ~. ~ ama:1 um cfiT . (a)~ (b) ~ 

ffi !- ~~ill1;jjl, ~, ~' ~ 3Tifa: 1. ( C) ~ (d) ~ 
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An . ( )· 'llt.r qiyfc@)ir '~ !1 ~fc@llr~~ Ans. (d) : '3<m' qiT ~ ~ ' ~ ' m-11TI ~ 
Fc11.11ii1'4f ~ ~ m ~-

s. a • 
~!- · 

~ ft«;m:f 
~ ~ 

cnott 13, ~ 
qfq@ ~ f.rqGf ~ 
~ ~ 

~ ~ ,~,qif~~t- I 39. 
45. ~*m-m~'~'cllf~ t-

(a)~ (b) ~ 
(a) qiffiT (b) ¥DT 

(c) ~ (d) ~ 
(c) 3lft@' (d) ~ 

Ans. (d): ~ <f>T ~ ~ !1 ffl ~ ~ ~ 
Ans. (b) : '~ <f>T ~ '~ W1TT ~ qiffiT <f>T 

~!- fcfffilT '~ m1rr I '3lft@' (~) <f>T fcfffilT 'ftnf' (ffl) 
~ fc«;mf 

mmt1 
~ ~ 

46. ~*m-m~'~'<lll~t-
f.M7:r ~ 

(a) 3WTlH (b) l l•HPl •H 
~ . ~ 

(c) f.rTlf (d) f.rfll 
;mm ~ I Ans. (a) : 'll<'IT'r ,rr,;;,: q;) flRitlf '3ll'T'R' i ait1l f.rcr,r, 1 
40. ,~,qif~~t-

I 
3WTlJ ~ ~ ! I . 

(a) '5fcfiITT (b) ~ 47. ,~,~~~~itm-
(c) ~fMl1 (d) 3TI'lffif 

(a) ~ (b) ~~ 

\Ans. (b) : 'fuflR' q;1 ml\ ~ '1F": ~ i I ~1 (c) ~ (d) W 
A (). '~ ' ~ <f>T ~ ~ '~ ' m-11TI mcR ~~<f>T~!13P'.1"~~ ! 1 

OS. C . 

41. '~' <liT fcrc;rrq-~ t- (fffilf~~t~w~3lW@'~t1 

(a)~ (b) ~ 48. ' 'Q"Rll'7.fir~~t-
(c) ~ (d) aftur (a) ~ (b) ~ 

., 

\Ans. (a) : 'lflw,i' q;1 ~ '1F": '>is' i , ~ <Ira q;1 I (c) '<l') (d) ffl 
\Ans. (d) <'@I'!' ;"f ilffil! ,rr,;;,: 'ffl' 1W111 •~ ~1 ~ '«mor!1 

42. '~' q;r ~('ihmiff~t- <f>T q,:if,:iql-ql ~ ~ I 

(a)~ (b) mffln 49. 'mo'~~qif~t-
(c) ~l"ll~cfi (d) ~'tllfc;ii'1 (a) ~ (b) 'i'1'ffill 

!Ans. (a):•~"" ~ctl111sff ,rr,;;,: ·~ · i1 

I 
(c) ffi (d) ~ 

Ans. (a) : '-3TI6' ~ ~ <f>T ~ ! I ~ 'i'1'ffill ~ ~ l'ql~cli 'cliT ~ '31~1'1'.ji~cli' m7Tf I . 

'~ ' m7TTI fRT ~ ~ ~ i1=; ~ cfil 'i'1'ffill ~ 43. '~' 7.fiT ~<1"1q1tdf~t-
~ ti ~ ~ ~ ~ ~ G{T ~ ~ ~ 

(a)~ (b) ~ cfil '~ ~~~I 
(d) ·~ -(c) ~ 

50. ~ *~~qif~~-
Ans. (c) : '~' <f>T ~ '~' l ~ <f>T ~ 

(a) cfiR (b) ~ ~ ~ fcr,fm WlTTI ffi ~ ~ !-
(c) aim (d) ~ 

~ fc«;mf 
Ans. (b): ~ ~ -q 'W ~ ~ ~ ~ ! 1 ~ 

~ ~ ~ ~ ~ -q t I cfiR cfiT ~ cfiUf, aim cfiT ~ ~ 
~ ~ ~ <f>T (ffifl{ ~ ~ m-rTTI 

-~ ~ 51. ,~,~~~~~-m-mt? 
~i.ff&tftaa ~q:;~"i ij * ~-m ~ '~' q:;r 

(b) tcm 
44. 

(a) Tim 
fc«;mf t-

(c) ~ (d) ~ 
(a) cfi<ffi (b) f.rqGf \~/ii'-~ ,rr,;;,: <lif ilffill ·~· t , 3P! M 1 (c)~ (d) ~ 
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52. f.li:.trt-if~Sl(1 "q" * ~ ~ I arot' Gfi'T ~ ~ 59. fawf~m?i~~~~~*~ 
~- fcrcrn~~t~fcITT:rmu~~-« 
(a)~ (b)~ ~ f-
(c) -3!21~cfil (d)~ (a) m~ (b) ~~ 

Ans. (d) : '3l"lrtt' ~ "cfiT ~ ~ '~ ' WIT ~ (c) ~~ . (d) ~ ~ cnW ~ 
3llTftcnr, ~ 3fu: -312ll~cfil ~ ~ ~ I 

Ans. (c): fcTTpf it ffl m ~~it m ~ ~ 
53. f.:lq~f{sla ~~•-m'1'; -q- * ~ ~ GfiT ~ 

fcfcliR ~ mm ! ~ 'fcTTrf ~ ' ~ ~ I BTT ~ ffl BTT ~-
"cfiT m ~ ~ ~ f<fcfiR ~ mm !, ~ m ~ ~ (a) clH{ (b) ~ 
!1 ~ it ffl m ~ ~ "cfiT ~ ~ ~ ~ (c) WR (d) ~ 

Ans. (b): om~~'~'~~~~ t , ~ fcrcnR~mm!~~~~~I 

'q~1q&m'~cnrmu-~wm-cnr offi+j ~ 'qf,f{' WIT, WR . "cfiT ~ "cfiT ~ ffl mm 60. 

t, 'llcR' nffi'll ~ t, (a) W + 31lcfiR (b) 'CfU + 'CfcnR 

54. ,~,-« '~' ~ ~ ~-~ ~ ~ (c) ~ + cfiR (d) ~ + 31lcm 

~- Ans. (d): '~ ' ~ "cfil -~-~ lR+~ ffl'lTTI 
(a)~>~ (b) w > mf ~ lJOT BTT ~ "cfiT ~ t I si!af -31", 3TT ifi afTa: ~, { 3, . 
(c) 1TT1T > 'f.i (d) ~>~ 

~, ~ 3lfC1: ill ~ ~ ~: ~, 3TI, ~ 3l\ m ~ 
Ans. (c) : ~ ~ nffi'll af.t ~ ~ ~ t-

t1 ~- ~= lfflf+~, ~= lfflf+~I 

I 
~ ~ 

'-ir.:r:+ -nrr' -q-~ ~ * ~ ~ ~, ~ 61. 
1TT1T 'f); 

~~~*wrr? 
~ ~ 

(a) fcrwf ~ mf uf3; (b) ffl ~ 

~ ri (c)~~ (d) 'ifTq ~ 

55. '~•~~ ~ cnr~ t - Ans. (a) : lf.'f: + ~ = ~ cfif ~ fcrwf ~ ~ 
(a) nffi'll (b) ~ ffl'lTT I ~ fcrwf t ~ '3r' 3lfC1: ~ fcrwf t afTa: M 
(c) ~ (d) ~ qrf cfif ~ ' ~ <TT ffi quf 3lfC1: <TT <l, <, c-r, cf, ~ w 

Ans. (b): '~ ~ ~ Wlfi cfif t 1 ~ ~ ~ ill fcrwf cfif '3' m ~ t ~ ~ '3' ~ '3r' ~ ~ 

'W 'WTT I ~~ 'an' m ~ t ~- lf,'f:+~ = lf.ITT?:r1 

56. '~+~'~~ ~* ~f.l1lra" ~ - 62. I 'q~~~ • "q' m-~ ~ t? 
(a) 1f<!.4<i11 (b) 1~1q<ia (a) <fD'T~ (b) ~ ~ 
(c) 1~q.;-~ (d) i,~q<ia (c) ~~ (d) lJOT ~ 

Ans. (a):~+~= ~I~~~ t , ~ Ans. (d): %+~ = ~ # '1JUT m' ~ t, <l'm 
S!",3TT, ~, i ~ 3 , ~ t arra: ~ m ~ ill 31!cfif ~ '%' cfiT 'ar ~ ~ cfiT '3" ~ :!°T ~ 'an' m ~ t, m~t I 

f.:li:.iR-tftsia -ij * •~~~• ~ ~ -ij t-
57. '~-1~<tia · ~ cnr mb"-~ ~ - 63. 

(a) 3H + ~ (b) 3l-t_ + ~ (a)~ (b) ~ 

(c) ~+ ~ (d) ~+~ (c) ~ (d)~ 

Ans. (b): ~ cfif ~ ~ 3l-t_ +~I~ ~ Ans. (b) :~ ~ # ~ m ~ i-
~cfif~t, ~ ~ ~ lfITT + ~ ~ '3l' / 3TT' t afTa: '-ct' <TT 

58. 'm + ~, cfiT ~ 'tj'fu-~~~\Jl., ~- 't ill~ t ~ # 't·~ 'an' <TT~ 3lfC1: ill ,u;:rr t 
(a)~ (b) ~ ~.#'~'QT~ t ~- Wl +~=~I 
(c) ffl (d) · ~ 

64. ,~,~~mu-~~-
Ans. (b): '<Wr+~' cfif ~ ~-~ '<mro' ffl'lTTI ~ 

(a)~+~ (b) ~ + ~ 
~ m ~ cfif ~ · t, ~ m <TT~ -31", ~,•3, ~ 
t afTa: ~ <TT ~ -31", ~' 3 , ~ 3lfC1: ill <U;:rr ~ ~ (c) t«I_+ ~ (d) traJ + ~ 

3TT, t ~, ~m~t, Ans. (c): ~ "cfiT ~ ~ ~ t«I_+~ ffl'lTTI ~ 
~- ~= fcror+3TTC1'1, ~ = 'Gl1+~ ~ I ~ ~ "cfiT ~ t I ~ ~ 3'.ffilTTf ! I 
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ALL!MiibfDY &JBiFilllllffllllml::IIMll'JBI± llf;!llllf!llli~~raL..!~ .,- - - -

Ans. (a) : '~ w ~ ,fl- -;i- m' ~ ifi ~ ~ 
~ '~n,~~~~-
~ - ~/~~ 
~ ~l{ffi~ 

3IB'l<f ~-;i-~m, 
66. 'm' ~ ~~ql~i:lt -

<a) ~ -« ~ ~ ~ 
(b) M ifi 3MR -« ~ 
(c) 3ITT ~-~ cfiT ~ ~ qffif 

(d) ct?.l lcfi~ct ~•+J1IRi ~ ~ ~ qffif 

Ans. (d) : •~ ~ ifi ~ qTfflf ct21icfi~i1 ~ki-iilRi 

~ ~ ~ q[ffi ffl"1IT I ffl" ~ 'S[cfiR ~-

~-« ~ ~ q'fffi- ~ -

M ifi 3MR -« ~- ~ 
67. '~ ;if\fc:tcfit' ~~~~ -

(a) ~ ~ (b) ~ ~ 
(c) 3r.if ~ (d) ~lcfilW!~ 

Ans. (d) : '3lf.tfffif fficfil' ifi ~ 1l<fi ~ ~ 
'3licfiPtl<!~' ~ I ffl fcr<m;q ct<f> WIB ~ t1 
68. '~ lR ~ ~ ~ 'llm ' ~ clt~i:ill 

~~~t-
( a) 3ffliRIT (b) 3llmJ1rcf, 

(c)~ (d)3RrmRJ 

Ans. (d) : 'm lf< ~ -;i-~ 1f<IT m· qTfflf ~ ~ 
~~ '~ "ITT1TTI 3illfi1lUTcfiBcr@<fit '~' 
~ ~ I ~ ~ 3Jm cfiB q'fffi '3llmilrcf,' ~ ! I 

69. ' ~ ~ llftr 
~~~t-
(a) ffi (b)~ 
(c) ~ (d) ii~shH1i 

Ans. (a): '~ ~ ~ 1ffif ~ ~ cfi{oT m' ~ ~ 
~ ~ ~ '-.t~• m71TI '~' <fir ~ t-~ 
t1ft-t1ft ~ ~ -q qiflf ~ q@f j 

70. '~-~ cfiT ~ cm-tl' cltc:f4i:ll 

~~~t-
(a) ~ (b) ~ 
(c) ~ (d) ~ 

71. , . cfiff.f~";J~ ·~~ 
cfit~~~~~f-
(a) ~ (b) mmr . 
(c) Fli,ctrooqflf'['I (d) ~ 

Ans. (c) : '~ ~ ~ :cfir ~~ of ~ ~ ~ 
~ "(lcfi ~ '~f¼f ~ I $f ~ ~ WRf ~ %1 

72. '~ ~ ~ ~ 3lR ~• cll&<-li:ill $ ~ 
~~wrr-
(a) ~ . (b) ~ 

(c) cfilcii.tj{ (d) ~ 

Ans. (d): 'am ~ -« ~ ~ ~ ~ ifi ~ 
~~•~m1lll '~"cf>Twt t ~ , 3'Rm 
~ -tt'cfi I 
73. ,~~-ill~~~m·~-$ 

~~~mr-
<a>~ (b) ~ 
(c) ~ (d) ~ 

Ans. (b): '~ ~ ~ "ffiqi@~ qi"«fT m' ~ t 
~~~ •~• mllTI 3R~ocf,wm~!I 
74. '1ft ~~I~ cfiT ~ ~ t-

(a) ~oW~~-~q;rm-;rr 

(b) ~ ~ 

( C) ~ cfi{ ~ 

(d) ~~ 
Ans. (a) : '-q'l alTW # ~ cfil ~ wt !- '~ (fW cfiT 

~ -~qifM Al ffl~dtWTCT~!, 
75. '~&ilciil~i ~• ~ cfiT ~ t°-

(a) afPT 1)' ~ '1fRT (b) m-zT-~ ~ ~ 
(c) ~~ (d) ~~ 

!
Ans. (c) : _•~ ~ ~ cfil wt- •~ ~1 
-m11T I ffi fcr<m;q ct<f> WIB ~ t ' . 
76. '~ lR ~ ~ ';J ~I c-11c61G+i cfiT ~ 

t-
(a) ~ ~ cfil ~ ~ -&tor ! 
(b) ~ m cfi{ ~ lf{ ~ of ~ 

(c) ~ ~ ~ -« ~. ~ 3ih: 3TT ll<TT 

(d) ~cfilfl~~~ 
Ans. (d): '~ ~ cfil ~ -;:i- it' ~ "cfiT ~ ~ 
~ # -« ~ ~ t- '~ <6T fl ~ ~ 
~I . 

w.f (Wt'i cti 1 ffti 
~ ~ cfil Wf - ~ i:h'hfm ~ cfit '4tffr 1 

,"300 mi! 
-, .. i-,~ m ~ ¢ ~ - f{gRl4,-fl ~ ~ ~ 
ml~off.rcn@ 

~ ~ ~ ~ ~. - ~ m ~ ~ ~ ~ 
~~3{TlfcTT 

316:ffqjt} cfil fi ~ - _ ~ ~ cfil -;ma,r of it 
~~ "~' 

26 
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(a)~ 

(c) uiT 
(b) '.fctr 
(d) ~ 



.. -~ . ···- -
i ,)Jfl§P" • W WIID ~u Ml"W ......... - - -:-:g --

'3fiR-f ' ~~~ 3l?it'~' atR-~ 3l?it-
Ans. (a) :~ ~ ~ -q •~ • ~ lfiil: ! I ~ qfcflf 

94. 

~- 'tTT;ft ~~ ! 1 ffl ~ ~~ t ~- (a) ·,frll 4'11 '1 (b) f.f~ 

- ~ ~ !1 
(c) ~ (d) ~ 

• mft ~~ ~ I 
Ans. (b): '3ftffi' ~ cfif 31W t •~• ~ ~ 3lv:f t-
f.fffiil ~<7114ql'1 ~ ~ ~ ~ ~ t1 

-~~!1 ¢*'anra'~cf,TW{RT9.if~~m t-
89. '~ ~ * ,fru ~wt'~ cf)T ~ ~ 

95. 

-g)m-
(a)~ (b) ~ l 

(a) ~~cnr~u~wr~ (c) ~ (d) qTUT 
1 

(b) ~ cfiT ~ u ~ "@ ! ~ Ans. (c): ~ ~ cfiT ~ ~ t- ~t ~ ~ 

(c) ~ ~ ffl "@ ~ 
q4f4q1-ift ~ ~- w-n, 3ffer4", Zffiq.-fi¾i I •~• cfif 3lW 

(d) ~ U ~WT!~~ cnT 
·~mm.t i 

Ans. (c) : •~ ~ U ~ ~ WT t ~ ~ cfiT wt 96. f.l q f&l ftsla Rla-;&e11 if * '~'~ cf)T ~~ 

~ ~ -q u ~ ~ ~-~ ,fru ~ w t i ~ ~~-

~ ~14"11fllcn ~ ~ f<6 ~ cfi1<f ~ u ~ mt M (a) it~ (b) WT 

~m~ ~ ·~ <® '~ ~cfiT m mf.tffl i , (c) ~ (d) ~ 

90. f.l qR-\ftsia ~a-;&<11 'if -« ~ ~ cit-~ Ans. (c) : wt 1fit ~ ll 'lf<m' cfiT ~ ~ '~ ' 

~- ! 1 ffi~ ~~~ ~ mtrm t 1 

(a) ~ at,os -1"14 ! 97. '~ ', 'mr', 'mrur' ~ ~ ~ ~ 9.ff t-

(b) ~ ~ mrf.tt ~ t (a) ffl (b) ffl ] l 

(c) ~ a.os 41 14 ~ (c) mtiT (d) ~ 

(d) ~~~t~ ! Ans. (a) : 'ffl' ~ ~ t ~ ffl 31W ~ "5fqiR 

!Ans. (cl : fltit 'm ~ if '!I<'"""' t- ..r ~•s<il"'I t- m , ~ . uirffi, ~ . ~ . ~ . 3WITTT, itcf, 
~ , ~ . filffiaf, "9'RT' ~ . llTTit, cnl@, ~ ~ t , ffi ~ -q ~~~t i rnuf, -mtil 3A ~ "ffcfi "B7IB ~ ! 1 , , 

91. F cl l&:ai~n 'if~ ~ ~ t, ~ ~ 
~ -

98. 'm ', .. ii?1ft ', ,~ ,~~~ ~~f-

(a) ~~ t 
(a) ~ (b) lTT < 

(b) ~~t 
(c) W (d) ~ 

(c) ~~ u~ t 
Ans." (b) : m, 1!~, ~ ffl am 'lTT' ~ ~ t 

(d) ~ ~ U ~~ if 
~ ~ I 3A ~ (1Cfi WIB ~ t I 

Ans. (a) : wt 1Tit qfcf<IT l) ~~ !- ~ ~ ti 
99. '~ ', '~', '~' ~ ~ ~ ~ f.:. '-

~ ~ cfiT ~ ~ !- ~ aRCRT t i ffi ~ (a) 3TTJf . (b) 3lTcfim 
1 

5q lcfi\folcfi ~ U ~ t I (c) lffift" (d) -qr,:ft 
I 

92. ~-m ~ ,~ , <iiT ~?if~ t- Ans. (d) : ~ . ~ ~ ~ '-qr,:ft' ~ it 

I ' ~ ! ~ 
(a)~ (b) wt ~en '1 ~ ~ ncfi wm ~ ! 1 

(c) zj'('f (d) ~ 
100. 

: ~~tl(~~..,,,ff ~ it 'ti('" lTT'ra t . .it 
Ans. (d) : wt ~ WGi-.U l) '~ ~ ~ cfiT ~ ~ 
! 1 ~ t~~~~t~~~wm (a) ~ (b) cfif¥ 

1 

!- ~ . wt, zj'('f, ~ I (c) ~ (d) ~ 

93. W~ ~-m~ '~ 'cnr ~ ~t- Ans. (c) :arcrfu '~ ' cfil ~ ~ t fcffe;r ~ t 
(a) lf1R (b) ~ 

~~ ~ ~-1fOTIBT ~ ~ -

(c) ~ 
~ . 3WITT, ~ ~ I• , ' ~. ~ ' -aircf;T, 

f 

(q) ~ 
~ 

Ans. (a) : ~ ~ WGi'.U # 'lflR' ~ cfiT ~ ~ t 1 101. ~,7✓5, ls ,✓2+21 ,1r-2f- ' 
~cfif ~ ~ ~ ·~·'qr mm t , ~ 
WIB ,ref ~ 1 . ~ ncfi 

5, 
(a)~ (b) ~ 
(c), ~Ullfilqi 

(d) ~~~~~ ~ -28 -
. , 

L 



Ans. (a)~ ~ - ~ ql«i f4cfi ~ ~ p/q ti 
~ ~ ~ ~ ~ ~ ~ . ~ p ~ q ~ t 
~ q -t- o. ~ ~ fcr«m: cfi'4T ~ <TT ~ 
~ fflffl t I 
~-✓2.1{. ~I 

102. 1 44 ~ ctr fain:r ~n--,,,+ GfiT 

(a) 520 (b) 484 

(c) 420 (d) 320 

Ans. (b) 1 it 44 oc6 ~ ~ = 1. 3. 5, .... .. 43 

~~ / = a + (n - l)d it 
43 = J + (n- 1) X 2 

2n- 2 = 42 
44 

n =-= 22 
2 

~ ~ S _ n (a + /) 
'ic..l cfiT ~ 1•1 ( .J - --'---'-

2 

(
1+ 43) = 22 x -

2
- = 22 x 22 = 484 

103. 499409 ~~9 -a; f\!l,.fhHH-11 qjl' ~ ~ t ? 
(a) 999 (b) 27 
(c) 99009 (d) 93 

Ans. ( c) ~ ~ f.rcfi@;t -qi:-

499409 

L9x I = 9 

9 X 1000 = 9000 

9 X l 0000 = 90000 
~= 

90000 
9000 

9 

/99009/ 

104. ~ 2,3,2,4,5,2,2,6,2 ~ 2 a:,'t aiFl.1-aclhll ~-

~) 2 (b) 5 

(c) 4 ~,........A- (d) 3 
Ans. (b) amkijFHil- BiR§4<h') lf, ~ ffl <TT ~ 
ll m 'Eg,IT ~ am 'Elfto mrfl' t, ~ ~ cfiT 3tT ~ 
cfil' all<iatl@ ~ ~ I 
"'~- 2 3 2 4 5 2 2 6 2 lf 2 cn't <ill<iatl{\11 = 5 t I 
Q11q)9 ' ' ' ' ' ' ' ' 

105. <TT~ -a:iT ~~~-a; 20% -a; ~ 
t1~mir~12tm~~t-
(a) IO 
(c) 12 

(b) 18 
(d) 15 

106. ~ ~ ~ 40% q;f 16o/o ~ 8 ~ ~ t 
ol1Q"~lllft- , 
(a) 125 (b) 11 2 
(c) 11 0 (d) 40 

Ans. (a) lWrT ml' = x 
~lHl j,~1<, 

(x cfil 40%) cfiT 16% = 8 

X X 40 16 
⇒--x- =8 

100 100 
8 x lO0 x 100 

X=-- --
40 x 16 

= 125 

107. X X GfiT 8% . 'Q't ~ ~ Yfl.<f 
cf-gT ~ X ciiT f.n=r ~ ~ ~ 'Q'tVftomi-ft'-
(a) 1.08 (b) 0. 24 

(c) 
52 

(d) 40 
9 

Ans. (a) ~~.JljBI< 

8 108 
X + X X - = - X X = 1.08 X X ~ it) 

100 100 
~x cfiT 1.08 ~ TTT ctiB -qi: cffll' ~ >IT1<f mlft1 
108. ~~10% 

tm~~-
<a) 30 
(c) 20 

Ans. (d) llRT ~ x t 
~:Hljtll<, 

!Ox + 4 = 20x 
100 100 

⇒ 20x - 1 Ox = 400 

⇒ 10x = 400 

⇒ X == 40 

(b) 35 
(d) 40 

109. ~ ~ ~ m1lR' 150 ~ I ~ 
~ ~ 12% ~ or 10% ~ ~ ~ 
ft;rn~~m1TT-
(a) 185.80 ~­

(c) 187.80 ~-

Ans. (b) CP = 150 
3lTTlmfi ~ = 12 % 

(b) 184.80 ~­

(d) 188.80~. -

~ ~ • ¥1 ffi7IB ~ = 

150 + 150 X _!3_ = 150 + 18 = 168 
100 

10% 'ffN ~ t ~ ~ cfiT f4sti4'lf\!I 

= 168 x llO = 184.80 
100 

Ans.(d) lWrf~~=x 

5Pl-iljBI<, X - 12 = X cfiT 20% 
110. fci'f.lR4~ ,<"I ~ 30% ur,r llfora 

x x 20 x 
x- 12 = - - ⇒ x--=12 

100 5 
4x = 60 
X = 15 

29 

~ ~, 40% ur,r ~~it om 20% 
~~it~~,m~~Gfil' 
~t-
(a) 52 
(c) 54 

(b) 50 
(d) 58 



Ans. (b) lfRT ~ firm1ff 100% t I 
~~if~ = 20% 
~ ~ if ~ = (30- 20)% = 10% 

~ ,pJ1f ~ ll ~ = (40 - 20)% = 20% 

~ ~~ = 20+ 20+10 = 50% 

~ ~ = (100 - 50)% = 50% 

1 1 l 
. 5 + 5 x5 S+SffiT S ( 1) l 111. ~ --X - ~--=- - 5- - X - ~lfr.f 

s xs +s 1 1 1 5 2 
- ffil - + - -
5 5 5 10 

t-
(a) 5 

1 
(c) -

5 

Ans. (b) 

(b) 1 

(d) ~ 
5 

1 1 1 
5+5 x 5 5+5<fif 5 ( l) 1 --x ~ ~---"- - 5-- x -
5x 5+5 .!_qif ! +! 5 2/10 

5 5 5 
1 1 

30 s· 25 24 10 = - x ~ -==---- -- x -
30 1 1 5 5 2 - x - x -

5 5 1 

! x 25 
=l x -5 - -24 

1 

5 
⇒ 25-24=1 

112. ~ ~ 14,25,14,28,18,17,18,14,23,22,14,18 

~t-
(a) 14 
(c) 25 

(b) 18 
(d) 17 

Ans. (a) 14,25,14,28,18,17,18,14,23 ,22,14, 18 qiJ ~ 

14 ~I~ 14 ~ ~ (4) ~ tr 
113. ~ ~ i 6 ~ ~ )' I ~ ;~• 

61,51,53,33,47,41 ~ ~ t-
(a) 51 (b) 47 
(c) 49 (d) 53 

Ans. (c) Fcrn1ffl41 ~ ~ ~ qiJ ~ "mlf = 33, 41, 
47, 51 , 53, 61 
Fcrn1fflq1 ~ ~ (n) = 6 

~ 
(1)~ ~~~+(J+ 1)~~~~ 

2 

= ( ~ )~~~~+(~ +1 )~~~~ 
2 

114. ~ x ~ .!_ ~ ma:f M t of t' $ ~ ~ 
X X 

~t-

(a) M2 

(c) 2M2-l 

Ans. (c) Slli•ll:!~R, 

1 
x+ -
__ x =M 

2 

1 
⇒ x+-= 2M .... .. .. .. (i) 

X 

2 . l 
x+ -

x2 q _!_ qiJ ~ = x2 
x2 2 

=½[( x' + :, +2 )-2] 

= ½[(x+~J -2] 
= ½[(2M)2 - 2] 

(b) M2 
4 

(d) 2M2+ l 

(wfi. (i) -«) 
= 2M2 - 1 ") ,_ 

115. ~ 6 ~an- ~ ~ ~ 4 ~an- ~ ~ l 
~~~mm~~t- 3 

(a) 35% (b) 45% 

(c) 40% (d) 50% 

Ans. (d) llRT 1 ~ qiJ W.f ~ = 1 ~. 

116. 

6 ~~ qiJ ~ ~ =6~. 

m 4 ~~ qiT rcr., = 6 ~. 

6 ~~ qiJ fcf.1r. = = 6 x 6 =9 ~ 
·1,: 4 . 

~ = rcr., - sn. 1i ⇒ 9 - 6 = 3 ~-

3 
"ffill% = 6x 100 = jSO%j 

a afh' b ~ &i~rc.cfi 

Jab =✓a✓b 
(a) q,,fi ~~ t 
(b) ~~t 

,_ 
It 

3<TT 'Cf{+ 4<TT ~ = 47 +51 = 98 = 49 (c) ~ t ~~a ~ b '!ffOllt'tcfi ~ ~ 

-
_ ___ 2 _ _ __ 2 __ 2 ___ ~;---(d_) _~__.:,*_~~~_.:·_::11~-«~q;q-~-«:_q;q-::_~~~::"':'~:_~ ;.: 

30 
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:r Ans. (d) ~ ov.rr ~ m!ffl3TT <fiT ql~fQ<fi ~ 
~!1 
~a3ittb~~!-

✓2 X ✓J : ./2x3 
✓6 == ✓6 

~ a at{ b -if- ~ ~ ~ ~ i'lm ~ ';ffOIIM<fi t 
H, x✓J == '1(- 2) x3 

✓6i =~ 
~ a at{ b ~ ';ffUIIM<fi ~ 

H, xH == '1(- 2) x(- 3) 

✓2i x ✓:,i = ✓6 

./6i1 =✓6 
-✓6 =✓6 

am: -../6 *✓6 
~ ✓ab =✓a✓b~~ ~t ~ ~ -q ~ qilf ~qilf 

~~t, 

(a) ~ = lfflUf<fil == ~ 

(b) ~ >~>~ 

(c) ~ >~ >~ 

(d) ~ > ~ > ~ 

Ans. (a) ~ m ijaf mm t ~ ~ <nT 1lR ~ 
~ "tf{ mm t, ~ m ~ tt-m: ~ . lfflUf<fil ~ 
~~Mo~"tf{~m~1 
118. ~~i ­

(a) <fr arnm ~ <nT ?WT ~ ~ ~ 

~ ✓7 - 1 ✓7+ 1 r;;- . ~ 
120. ...,.,G ~ -~=a +bv7, ~ a,b 1,41~4-1~ 

:v7.+1 v7-1 
ti&.11£1 f m (a, b) ~\-

(a) (o,-{) (b) (-},o) 
(c) (o,}) (d) (},o) 
✓7 - 1 ✓7+1 r,; 

Ans. ( a) ---,:--:- -~ = a+ bv 7 
-v7 + l -v7 - I 

(✓1 - 1) x (✓1 - 1) (../7 +l) x(../7 +1) ==a+b✓7 
(✓1+1)(✓1 - 1) (✓1-1)(✓1+1) 

(✓7 - 1)2 ( ✓7 +Ir r,; 
--'-----~----=a+bv7 

6 6 
7 + I - 2✓1 - 7 - l - 2✓1 r,; 
------- = a+ bv7 

6 

o+( ~4 )✓1 =a+ b✓? 
~ ~ ctl- ¥RT qiG "tf{-

( : : ~ }r(a,b) = ( o, ~
2
] 

(a) 10,000 (b) 11 , 100 
(c) 9,900 (d) 12,200 

Ans. (c) ~ ~ <t 31o ~ -il•Hi~, = 
10000 x I lO x 

90 = 9900 
100 100 

-fflT ~ 
~ -~ ....;...,,.....~ -~ 122. 

, (b) ~ -.:)f'-11~'1'-I ~~1-.:)fl cnl 101'1Cfict 1:(qi -.:)f'-11'<.'1'-I 
~ Xt, X2, X3 •••••• X0 'ifiT lUUf X t it fflXt, fflX2, 

fflX3,. ••••••••••• fflX 0 'ifiT mUf t-
~~ 

(c) <U~~<fil"3RR'Q.<fi~~t 

( d) "((qi ~ i'lm "((qi ~ ~3TT <fl1 1°H4ict 

arnm~t 

I

Ans. (d) "((qi ~ ~ i'lm "((qi ~ ~ <nll 
_1UH Cfict ~ ~ mof ~I . 

119. ~~qif~~450~. ~~~ 
414 ~. t, oaf~ q,'l-~t-
(a) 14% (b) 8% 

(c) 12% (d) ~~~~~ 

Ans. (b)~ = ~ ~-~ ~ 
= 450 - 414 = 36 

~ .,.,4 -;:r-r 36 x100 
"I~ <nl "''- == --- = 8% 

450 

31 

n 

(a) Lmx 
n 

(b) LID~ 
I I 

(c) mx (d) mx 
n 

Ans. (c) 51~-11:j,:el(, 

x1 +x2 +x3 + ... .... +x -
n X 

n 
..... (i) 

= ffiXI +ffiX2 +IDX3 + ....... +ffiXn 
n 

= m( x1 +x2 +x~+ ... .... +xn) 

=mx 
';flG- ~ • ~ ij n cfiT "T1TT, 1'T1T, ~ ~ ~ 
~ ~ m ffl ~ ~ -ql-~ ~ cfiT "T1lf, 1'T1T, ~ 
~~~~!, 



UJ. ~~~~~~t-
(a) (2+2+2)2 (b) [(2+2)2]2 
(c) (2 x2 x2)2 (d) [(2+2)x2]

2 

Ans. (b) 
(a) (2+2+2)2 = 62 = 36 
(b) [(2+2)2]2 = (42)2 = (16)2 = 256 
(c) c2x2 x2)2 = (8)2 = 64 
(d) [(2+2)x2]2 = 82 = 64 
3lo: ffi ~ ~ [(2+2)2]2 = 256 ! I 

124. ~'mit~~t -
(a) O (b) 1 
(c) 2 (d) 3 

125. {44\d;,(OI X + 2y = 3 "diT, f.p:;{ ~ ~ ~ ~ ~ f? 
(a) X = 0, y = 3 (b) X = 3, y = 0 
(c) x= 5,y =-l (d) x = l ,y =l 

Ans. (a) ~ ~ ~ # ~ (a) x = O , y = 3 ~ "9"{ 

Bi:flch(UI x + 2y = 3 

0+2 x 3=3 

0 
3lo: X = 0, y = 3 ~- cfil °ITT1 ~ ! I 
126. 

5x +Sy =35 
3x +9y =42 
"dil~t-
(a) x=I, y=5 (b) x= -1 , y= 5 
(c) x = 1, y = -5 (d) x = -1 , y = -5 

Ans. (b) 5x + 8y = 35 ............. (i) 
3x + 9y = 42 ........ .. ... (ii) 

~ - (i) :if 3 q (ii) :if 5 T'lT ~ 'Ef2H "9"{ 

15x + 24y = 105 
15x + 45y = 210 

-2 ly = -105 
y = 5 

~ - (i) :if y cfil -qr;r ~ -q"{ 

5x + 8 X 5 = 35 

5x = 35-40 

- 5 
x = -=-1 

5 
JIB; X = - 1, y = 5 

127. k~~lTr.r~fc;rc)-f.ri:;r~~q)q:;<urf ~ 
3x-5y = 7 
6x-10y= 3k 

~~ffe? 

44 
(a) 3 

13 
(c) 9 

Ans. ( d) lTT<TT 

a1x + b1y + c1 =0 'ffm · 

(b) 12 
5 

(d) 14 
3 

a2x + b2y + C2 = 0 ~- ~ 3r,Rf mrt I 

'ffm 

a1 b1 C1 -=-=-

3x - 5y = 7 

6x-10y = 3k 

3 -5 7 
-=-=-
6 -10 3k 

7 1 14 
⇒- = - ⇒ k= -

3k 2 3 

128. ~ (x-k), 2x2-13x+15 3ITT 2x2-7x-15 GfiT +f.~.1l 

mm, k "diT lfr-f't-
(a) 3 (b) 5 
(c) 7 (d) 4 

Ans. (b) 2x2
- 13x + 15 = 2x2 

- !Ox - 3x + 15 
= 2x (x- 5) -3 (x-5) 
= (2x- 3) (x-5) 

2x 2 -7x-15 = 2x 2 - 10x + 3x -15 

= 2x(x - 5)+ 3(x -5) 

= (2x+3) (x-5) 

3lo: lf. ~ - = (x- 5) 

lf. ~ - = (x- k) ~ ! I 
⇒ x-k = x - 5 

<IT k=S 

,. 

I 

129. ~ ~ifta,:co, 3x2+(2k+l)x-(k+5)=0 ~ ~ cl 

4i ◄ I Q-i('1 ~ 1014 Q-i('1 ~ ~ W, -at k "diT 1'R t-
( a) J (b) 2 
(c) 3 (d) 4 

Ans.(d) 3x
2
+(2k+l)x - (k+5) = 0 

.ll!l..Jlj/11< 

~ cfil ~ = ~ cfil 101.:iq,a 

-(2k+l) = -(k+5) 

3 3 

⇒ 2k+ 1 = k + 5 

k=4 

130. ~ t'-6x+8>0 <TT X q:;f °1'.fR" t­
(a) f.lfim ~ ~ 4 ~ ~ 

(b) f.lfim ~ ~ 2 ~ {§Rf 

(c) ~ ~ ~ 4 ~ ~ 

(d) 4 ~ ~ ~ 2 ~ ~ 

32 
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It, 



Ans. (d) x2 
- 6x + 8 > 0 

::=:, x]-2 x J x x +9 - J > O 

::=:, (.'>;- 3/ - 1 > O 

x cfiT -i:rR 4 it ~ ~ 2 it rncT ITT ll1: B'1''ich{OI • 

m,TT I 

131. ~ (x-2), x3
- 2ax2+ax-l ~ ~ 101+@0:s t if 

a~~t-
6 

(a) -
7 

(b) i 
5 

(c) 
7 

(d) I 
6 5 

Ans. (c) ·. · (x - 2) , x3 -2ax 2 +a.'(-l qif 101+@os t i 
,31(;: X = 2 fl 4)cfi{Oi .cfil • ~ I 
x=2~ll1: · 

23 
- 2a (2)2 + 2a - 1 = 0 

Ans. (b) ·_- ~.~. X lf.~. = llffl 1R X ~ 1R 

L x H = P x Q 

I~ =±~I 

135. ~~~cfil~~~gm~ 

q,{~"IR 
11 ~~mm, ~t-
4 

(a) 8 

1 
(c) -

4 

Ans. (c) ll'frlT ~ = x 

51:trtl:!,fll{ 

1 17 
x+-=­

x 4 

(b) 3 

(d) 2 

⇒ 8 - 8a + 2a - I = O x
2 + 1 17 --- -

· , -03 = - 7 X 4 

7 ⇒ 4x2 + 4 = l 7x 
a=-

6 ⇒ 4x2 
- 17x + 4 = 0 

132. W ~ ~ ~ ~:P:tiQcldch 36 t om ⇒ 4x
2 

- 16x -x + 4 = O 

~ tl'llQcldtii 6 ti ~ ~ ~ 12 t <TT ⇒ 4x (x- 4) - l(x-4) = 0 

~ t- ⇒ (4x-1) (x-4) = 0 

(a) 3 
(c) 18 

Ans. (c) ll'frlT ~ ~ x t i 
~it, 

(b) 6 

(d) 24 

~ ~ X ~ ~ = ~ .ti'. X lf.R 

X X 12= 36 x 6 

36 x 6 
x--­, - 12 

X = 18 

133. tiiflch<Ol1° 2x-3y-7=0, om 4x-14=6y ~ f-
(a) 3Ho ITT, (b) ~ ffl ~ 
(c) rit ffl (d) ~ re 

Ans. (a) 2x - 3y - 7 = 0 ............ .. ...... (i) 
4x- 6y - 14 = 0 .... ............. .. (ii) 

tf1fi. (i) -q 2 qif TTT ~ lR-

4 x - 6y - 14 = 0 ...... .... .. .. (iii) 

'Blff'. (ii) q wft. (iii) l!:cfi ~ t ~ ~ t I 
om: Bificfi{OI (i) q (ii) it- m ffl m1T I 

134. ~ w ~ P afrt Q ~ ~ fiq1qaJch ~ 
~ flqjQcldiii mlm:H afrt L * ~ ~ 
m-

p H 
(a) -=+­

Q -L 
p Q 

(c) -= + ­
L - H 

(b) H=±Q 
p L 

1 
(d) PQ=±­

LH 

33 

⇒ X = 1/4, x= 4 

136. f.:t1-4R-ff-Oh'l ~ x3-l, x4+t'+l 
t1q1 qaJch t-
(a) (x-1) 

(c) (x2+ 1) 

Ans. (d) 
x3 

- 1 = (x-1) (x2+x+ 1) 

(b) (x+ 1) 

( d) (x2+x+ 1) 

... .. (i) 
x4 + x2 + l = x4 + x2 + x2 + l - x2 

= x4 + 1 + 2x2 
- x2 

= (x2 + 1)2-(x)2 

= (x2 + 1 + x) (x2 + l - x) ...... (ii) 

'Blff'. (i) q (ii) it, 
lf.~ . = x2 + x + l 
~ Po c'x2+b'x+a'--O ..::.- ~ ="' 137. ,,.,.:lllhrrr,-"411:1= {iiflch<Oi q, -i_~-i, <.ni 

lll•IQ-i('i ~-

(a) 
b' 

--
c' 

(b) 
c' 

- -
b' 

(c) 
b' - -
a' 

(d) 
c' - -
a' 

Ans. (a) c'x2 +b'x + a' = .0 

it-~qif~ 

- -(x<lil~) 

- (x2<lil~) 

-b ' 

c' 



138. ~~Jflcn,(Oi px2 -qx+r=O ~~a~ ~ll 141. ~~"1.;,~t$il ~ ~ ~ ~ ~ 

m_ (¾+-p1) cnT llR 'WIT- (a) m (b) ~qfll~'i 
(c) W{'R~t (d) 3lWfH~t 

q 
(a) -- (b) q 

r r 

(c) £. (d) p 
r 

Ans. (b) px2 
- qx + r = 0 

1lffi q;r <WT (a+~)= - (-q) = q 
p p 

1 1 a+f3 q/p · 
-+-=--=-
Ct ~ a~ r/p 

r 

Ans. (c)~ c€1" ~ , ~ ~ ~ q@ ~ 
~ ll ~ cfiW t I 
142. ~~ ~q,~,( . 

-~t-
(a) ~~ (b) ~~ 

1~~ ~ f.mil, ~-- iml t ~1 
143. ~ ~~ wm ~ ~ t fcn ~ ~ 

ft:ru ~ * 5 1ft. ~ t ~ ~ ~ ftro 
~* 121ft. ~ f€1~i:6l ({cfi~t.1~cn'l" 

(c) B'i'qtl,'1s:il (d) 3WTTf 

~(;) . 7:;3\ (b) 14 1\\. 

139. · ~ ~ ~ ~ 432, 534 ~ 398 cfi1" m1T .-----...:.._(c.:......) _15_ lfi_. _____ (d_)_l_6_lfi_. ___ --, 

~ ~ :t\i:tQi('j 7 ~ t, ~ t- Ans. (a) 
A 

(a) 17 (b) 34 
(c) 32 (d) 98 

Ans. (a) 432 - 7 = 425 
534 -7 = 527 
398 - 7 = 391 

~ ~ ~ = 425, 527, 391 q;r l'.f.~ . 

⇒ 425 = 17 X 5 X 5 

527 = 17 X 31 
391 = 17 X 23 

l'.f.~. = 17 

⇒ ~~ ~ 17 m,fi1 

140. ~ qlf ird ~ ~ ~ (cff-TT ~ ~ -;ft cnf 
-q~ ~ (_cfi:tT) <fir 101-1Qi("j 15 ti ~ cn'l" 

ctJtt1-1 ~t­
(a) 10 ~ 

(c) 8 ~ 

Ans. (b) 'Ulf ch't cffllfH ~ = X 

SPi-11:j,~Fl-

,, (x - 5) (x + 9) = 15 

x2 + 9x - 5x -45 = 15 

x2 + 4x -45 = 15 

x2 + 4x -60 = 0 

x2 + JOx - 6x - 60 = O 

(b) 6 ~ 

(d) 7~ 

x (x + 10) - 6 (x + 10) = 0 

(x + IO)(x - 6) = 0 

x=6,x=-10(~) 

~~ch't<ffilTR~=6~ 

B '-----C 
5m 

~ Cfil° ~ (AC) =.J(12)2 
+(5)

2 

= ✓169 
= 13 lfi. 

144. 13 , 14 

<fil~t­
(a) 94 itlfi2 

(c) 74 'B1fi2 

(b) 84 ~ 2 

(d) 64 ~ 2 

Ans. (b) a = 13 cm, b = 14 cm, c = 15 cm 

a+b+c 13+14+15 
s=-- ---=21 

2 2 

~ q;r ~ =✓s(s-a)(s-c-b)(s-c) 

= ✓21(21-13)(21-14)(21-15) 
= ✓2l x 8 x 7 x 6 

= ✓7056 
= 84 cm2 

145. ~ ~ ~:::: ~~~ i:rftfu- 11 

~ cm <tt qfUtira ~ ~f, ( 71 = 272 ) 
(a) 184 ~ 2 (b) 174 ~ 
(c) 164 ~ 2 (d) 154 ~ 2 
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Ans. (d) Tf <b't ffi = 2nr 

⇒ 27tf = 11 X 4 (cf1f cfi\" ~ = 4 X ~ 

f = 44 = 44 X 7 = 7 wft". 
2n 2x 22 

vr qiT ~ = nr2 

= 
22 

x 49 
7 

= 22 x 7 = 154 cm2 

(a) 70° 

(c) 90° 

Ans. (c) 

L'.QPR = 90° 

/!;. PQR -q, 

(b) 80° 

(d) 100° 

c: ~-q ~ qifUT ~ mr ti) 

LQPR + L'.PQR + L'.PRQ = 180° 

90° + L'.PQR + L'.PRQ = 180° 

146. ~ ~ ~ c6T ~ 49✓3 qif-~ tr L'.PQR + L'.PRQ = 90° 

-aT~cfft~t- 149. fmr ~, PQ ~ vf qiT ~ t afu 
(a) 71ft. (b) 14 1ft. L'.QRS = 150° -al" cFiTUT L'.SQPc6T m;r !-
(c) 21 1ft. (d) 9 1ft. 

Ans. (b) ~ ~ <fiT ~ = ✓3 a2 

4 

⇒ 

✓3 a2 =49✓3 
4 

3
2 = 49 X 4 

a2 = 196 
a= 14 ~ 

147. 15 30 ~ (a) 40° (b) 30° 
~~~~~fr~~~~~~ (c) 60° (d) 50° 
36 ~\I~ mhif ~ ~ cn't ~l- ~An- s-. (-c)-ffl?:f--'qtl----=-~-Zil -PQ_R_S-,-ll,-------, 
(a) 391ft. (b) 37 1ft. 
(c) 41 1ft. (d) ~ ll 'ij ~ ,r@ LQRS + LSPQ = 180° 

Ans. (a) DC= AB= 36 m L SPQ = 180 - 150 = 30° 

BM= 30-15 = 15 m Af>QS 1l, 
M 

A J 
30m 

]5 Ill ! 
D 36m C 

~ ~ ~ afR ~~(AM)= ✓(BM)2 
+(AB)

2 

= ✓(15)2 +(36)2 

= .j225 + 1296 

= .J1521 
=39m 

148. fmr , 0 'ipf qiT ~ L'.PQR + L'.PRQ 
-a;Tll'R'\-

p 

35 

LQSP + LSPQ + LSQP = 180° 

90° + 30° + LSQP = 180° 

(LQSP = 90° ~ 1l ~ cfilll1) 
LSQP = 180° - 120° 

= 60° 

150. ~M-~~·4:3:2~~~f,'ffi" 

~-

(a)~~! 

(b) ~~! 
( C) ~ 

(d) t1m ~ ! ~ 'tJ:cfi <fiT 80° ~ ~ ! 
Ans. (b) ~ t cfiTlJIT <fiT ~ = 4 : 3 : 2 

lfRT ~ t cfiTUT 4K0
, 3K0 om 2K0 

~ 

⇒ 4K0 + 3K0 + 2K0 = 180° 

9K0 = 180° 

K0 = 20° 

~ X = 80°, y = 60°, Z = 40° 

~~~~~I 
~-~ t ~ cfiTlJIT qiT l{R' 180° mm t, 
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